
Although the CEO appeared reluctant to raise new equity, George thought he would take the opportunity to explore other financial strategies. In particular, he was interested to see how things might look if Executive Fruit kept to a constant 40 percent debt ratio. The return on equity might not look so good in this case, but it would certainly keep the company's bankers happy.

George wiped the last piece of jelly from the keyboard and settled down to work.

Plus Excel spreadsheet
Figure 18-2
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 Footnotes

1. In Figure 18–2 we recognized that the increased borrowing will result in higher interest payments and therefore a higher tax shield. Thus the total increase in interest payments plus net income is 6,800 + 7,900 = $14,700. 

2. However, remember our earlier warning that the ratio of sales to net assets may change as the firm grows. 

3. Here is a proof. 
4. [image: image2.png]Required equity issues = growth rate x assets — retained carnings — new debt issues|




We find the sustainable growth rate by setting required new equity issues to zero and solving for growth:
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However, because both debt and equity are growing at the same rate, new debt issues must equal retained earnings multiplied by the ratio of debt to equity, D/E. Therefore, we can write the sustainable growth rate as
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5. Note that when we calculate internal or sustainable growth rates, ROE is properly measured by earnings as a proportion of equity at the start of the year rather than as a proportion of either end-of-year equity or the average of outstanding equity at the start and end of the year.

6. As the firm issues more debt, its return on equity also changes. But Executive would need to have a very high debt-equity ratio before it could support a growth rate of 10 percent a year and maintain a constant debt ratio. 

